ROSE-HUUWMAAN Institute of Technology
Saphomore Engineering Curriculum

ES201 Conservation & Accounting Principles

Example

Dt. Thom is traveling down a 5° incline in a wicked awesome new Beetle at a speed of 60 mph. Suddenly he sees a

squirrel in the road and he applies a constant braking force of 1500 Ibf. If the squitrel is 500 feet away when the brakes
are applied, is he safe from being hit? The mass of the Beetle is 4000 lbm.

a) Solve this problem using conservation of linear momentum. ¥

- b} Selve this problem using something easier. )
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